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QUESTION 1

Refer to the output.

routar bgp 200

neighbor internal pesr-group

neighbor lnlernal remule-zs 200

neighbor internal update-source loopback 0
neighbor internal route-map set-med out
neighbor internal filter-list 1 out
neighbor internal filter-list 2 in

neighbor 172.€68.232.54 peer—-group internal

neighbor 172.68.232.55 peer—-group internal
neighbor 172.68.232.56 peer—group internal
neighbor 172.68.232.57 filter-list 3 in

According to the partial configuration, which two things have occurred? (Choose two.)
A. All the configured neighbors are in autonomous system 200.

B. Three AS-path filters are applied to each BGP neighbor.

C. The peer group shortens the IBGP configuration.

D. Only the outgoing filters are applied to BGP updates.

E. The peer group shortens the EBGP configuration.

Correct Answer: AC

QUESTION 2

On an S-Series switch, what two events occur when a static null route has been configured in the system to drop a

packet? (Choose two.)

A. Null route is installed in the PBR table to drop the packet
B. Null route is saved into the running configuration.

C. Null route is installed in the ACL table with deny statement.
D. Null route is installed in the IP forwarding table.

Correct Answer: BD
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QUESTION 3

A network engineer has connected a Port Extender to a C-Series switch. While issuing the command "show pe brief" on
the C-Series switch, the engineer sees a status of "offline".

Which two things could be causing the Port-Extender to show "offline"? (Choose two.)
A. Mismatched software version

B. Communication error

C. Physical interfaces are shutdown

D. Incorrect Port-Channel numbering

Correct Answer: AB

QUESTION 4

Refer to the exhibit.

Considering the network topology and information shown, what is an issue with end point devices in network
192.168.102.0/24 that try to route to 192.168.101.0/247?

A. ICMP Redirects
B. Suboptimal Routing

C. Routing Loop
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D. Summarization Black Hole

Correct Answer: C

QUESTION 5

A network engineer needs to remove switch 2 from a stack of four switches permanently. Which process should the
network engineer use?

A. Adjust the stacking cables to take the N-Series switch out of the stack, log into the CLI of the stack, and run the
following command:

B. Adjust the stacking cables to take the switch out of the stack. The master switch will automatically remove the switch
from the stack.

C. Adjust the stacking cables to take the switch out of the stack, log into the CLI of the stack, and run the following
command:

D. Adjust the stacking cables to take the switch out of the stack, and reboot the stack.

Correct Answer: A
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